Resporse | ArH FFact ECL | PeakName Percent | Commmentl Comment2
343882 | 0.004 —- | 6.6188 —- | <mnn
1.023E+9 | 0.019 — 6.6688 | SOLVENT PEAK —- | <minn
12:0is0 039 | ECL deviates -0.002 Reference -0.003
12:0 ECL deviates 0.000 Reference-0.001
13:0is0 ECL deviates 0.002 Reference 0.001
13:0 anteiso ECL deviates 0.002 Reference 0.001
14:0is0 ECL deviates  0.000 Reference-0.001
ECL deviates -0.001 Reference-0.002
ECL deviates  0.000 Reference-0.001
ECL deviates  0.000 Reference-0.002
ECL deviates -0.003
ECL deviates  0.000
16:1w7c alcohal ECL deviates 0.001
Sum In Feature 2 ECL deviates -0.007 14:030H/16:1is0 I
16:0is0 ECL deviates 0.001 Reference-0.001
16:0 anteiso 023 | ECL deviates -0.002
16:1wllc 043 | ECL deviates 0.001
Sum In Feature 3 781 | ECL deviates 0.003 16:1 whe/16:1 wie
16:0 432 | ECL deviates  0.000 Reference-0.003
: 15:020H 0.77 | ECL deviates 0.006
370 | 0.010 —- 16.369 —-
4600 | 0.010 0529 | 16416 | 17:1iso wilc 2.14 | ECL deviates 0.002
11014 | 0.010 0028 | 16487 |1 iso wic 3.12 | ECL deviates 0.003
4690 | 0.012 0926 | 16.564 | 17:1 anteiso A 2.18 | ECL deviates -0.007
20368 | 0.010 0.926 16,636 | 17:0is0 0435 | ECL deviates -0.001 Reference-0.005
4369 | 0.010 0524 16.732 | 17:0 anteiso 2.02 | ECL deviates -0.001 Reference-0.003
362 | 0.011 0.921 16099 [ 17:0 0.17 | ECL deviates 0.000 Reference-0.005
630 | 0.013 0915 | 17.793F | 18:1wdc 030 | ECL deviates 0.001
1737 | 0011 0.013 18.001 | 18:0 0.79 | ECL deviates 0.001 Reference 0.003
934 | 0.013 —- 19.660 —-
5436 — — —- | Summed Feature 2 2.57 | 12:0 aldehyde? unkmown 10.9525
— — — — —- — 16:1is0 I/14:0 30H 14:030H/16:1 is0 I
—- 16641 — — —- | Summed Feature 3 781 | 16:1w7c/16:1 whc 16:1whc/16:1 wic
ECL Deviation: 0.003 Reference ECL Shift: 0.003 Number Reference Peaks: 14
Total Response: 210266 Total Named: 208763
Percent Named: 99.28% Total Amount: 199574
Matches:
Library Sim Index  Entry Name
RTSBAG6 6.21 0.777 Bacillus-cereus-GC subgroup A
0.549 Bacillus-thuringiensis-kurstakii
0.542 Bacillus-thuringiensis-israclensis

Figure S1. Fatty acid analysis results of strain A2

0.7
< 0.6-

1/V=0.0577/[S]+0.0421
R?=0.9992

0.0+
0o 1

4 5 6 7 8 9 10

2 3
1/[S](mL-pmol™)

Figure S2. The Lineweaver-Burk plot



